7= miiEA

M
%4,
B 124 DIN 7984 M/SARF DIN 985 , 4N,

A
KLNXBITELE,
BERERIRRFASARS,

B

R~ AMESREN , HFAER T mm R84,
BEEXK

ATEENRKET,

IEE

FERE I E 2L AT LABE1T 180° TR B,

© norelem www.norelem.com

29036 inch 48 14X =B E 5L - inch



29036 inch A HIE =M E 2K - inch

0 K0490.512 - K0490.518 ®9 2

B HROEZA
K //

2]

@
&

© norelem www.norelem.com




29036 inch 43 &4 =M 5L - inch

29036-5CP 0.5 6 25| 26 | 294 40| 50 | 20|40 | 64 44 |5 35 |21| 375 M6x18 38
29036-5CS 1 7 145 40 42 57| 75 |33 57| 106 | 73 | 7 75 |33 52 M8x35 -
29036-5CT 125 | 7 |45 40 42 57| 75 |33|57| 106 | 73 |7 75 |33 52 M8x35 -
29036-5D2 1.5 9 |60 | 56 57 76| 100 |44 |76 | 144 | 100 |10 100 | 48 69 M10x50 -
83300-01001700 8 10| - 3 7,5 - - - | -] 45 - - - 4 - - -
83300-02002510 8 10 - 5 10 - - - - 50 - - - 5 - - -
83300-03003511 8 10| - | 45 10 - - - - 60 - - - 5 - - -
83300-05005511 8 10| - | 45 10 - - - | - 80 - - - 5 - - -
83300-08005511 8 10| - | 45 10 - - - - 80 - - - 5 - - -
83300-10005511 8 10| - | 45 10 - - - - 80 - - - 5 - - -
83300-12006011 - 12 - | 43 12 - - - - 90 - - - 10 - - -
83300-22011411 - 12| - | 43 12 - - - | -] 144 - - - 10 - - -

© norelem www.norelem.com



